Unit 5 Review Sheet
Name _________________________

Test ________________________

1. Write the number 32,506,968 in word form
2. Estimate the sum.  Write a number model for the estimate.
936 + 875
3. Estimate the sum.  Write a number model for the estimate.
4,808 + 3,630

4. Write 10 * 10 * 10 * 10 * 10 * 10 in exponential notation using powers of 10.
5. 6,473,289,156

a. What is the value of the digit 8?  __________
b.  How many millions are there?  ____________

6. Circle the number that is closest to the sum.  Write a number model for the estimate.
221 + 254

600

500

400

300

7. Circle the number that is closest to the sum.  Write a number model for the estimate.
477 + 484 + 695

1,600

1,700

1,800

1,550


8. Multiply.  Use the partial-products algorithm.  Show your work.
a. 9 * 84 = __________

b. 35 * 6 = __________

c. 588 * 2 = __________

d. 23 * 12 = __________

9.  Add.
a. 9.1 + 1.1 = __________
b. 10.3 + 1.9 = __________

c. 18.75 + 6.32 = __________

10. Subtract.
a.  10.72 – 8.27 = __________
b.  9.2 – 2.7 = __________

11. Explain the mistake that Hannah made when she solved this 

  problem:

0.07


- 0.6

0.01
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12. How long is this line segment to the nearest ¼ inch? 

How long is this line segment to the nearest half-centimeter?
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13. Complete the tables.
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14. Estimate whether the product will be in the tens, hundreds, thousands, or more.  Circle your choice.  Write a number model to show how you got your estimate.  Then calculate the exact answer.

27 * 67


10s

  100s
   1,000s

10,000s


Number model:  ______________________________________


Exact answer:  _______________________________________

15. Estimate whether the answer to the number story will be in the tens, hundreds, thousands, or more.  Circle your choice.  Write a number model to show how you got your estimate.  Then calculate the exact answer.

There are an average of 49 jelly beans in a box.  Jerome gave out 63 boxes of jelly beans to fourth graders on his birthday.  How many jelly beans did Jerome give out?


49 * 63


10s

100s

   1,000s

10,000s


Number model:  ______________________________________

Exact answer: _______________________________________

16. If an average of 10,000 babies were born each day, answer the following questions.  Explain your answers.
a. About how many babies would be born in a week?

b. About how many babies would be born in a month?

c. Would more or less than a million babies be born in a year?

17. Suni measured the line segment shown below.  She said, “The line segment is 3 ¾ inches long.”  Do you think Suni measured correctly?  Explain your answer.
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